REREBEICRIMEBLREBED LR
BAEE AW ERE = R B

B H WEE EEBE g &
X | BERCYRELEE Nm /4 — _
ﬁ
5
% | EHBICYBRELE Nm /4 505,000 263,912
B B 2,930 1,500
“BHHKE (m%/B)
3 N 5,460 3,800
pH & 5.8 7.0
= KX 8.6 7.4
ane B B 29.3 42
(ke/B) PN 35 12.3
coD
s p::] B 10 2.1
(mg/L) 2 % 15 6.0
aE & H — —
BOD
K i s — —
= (mg/L) 2 % . .
£5] ans B 44 2.7
1% (ke/R) 2 X 52.5 85
SS
s & & 15 1
(mg/L) = % 20 4
ang B 1.1 0.2
(kg/H) 2 % 5 0.4
n—-Hex
T B W — —
(mg/L) = % ’ 0.1
HAWE (10%kcal/Fh 5 N 420 379.1
RNEEE °c) S N 7 6.4
RAHHE (m®/F) & K 60 60.0
REBESR BHEShAGWNIE BRESAT




